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QUESTION 1

A vSphere administrator wants to ensure provisioned virtual machine storage objects are allocated to guarantee a
service level agreement.

Which feature would accomplish this?
A. Storage policy

B. VAIO Filtering

C. Storage /O Control

D. Storage DRS

Correct Answer: D

QUESTION 2

An administrator configures vSphere Replication for a DR site.

Which two items should be deployed at the second site? (Choose two.)
A. array-based storage

B. vSphere Replication appliance

C. vCenter Server

D. vSphere Distributed Switch (VDS)

E. vSphere Data Protection (VDP)

Correct Answer: BC

QUESTION 3

A cluster of vSphere 6.5 and 6.7 hosts all have identical hardware. VMs are created on the 6.7 hosts with virtual
hardware version 14. During routine maintenance on the 6.7 hosts, the VMs are unable to migrate to the 6.5 hosts.

Why are the VMs unable to migrate to the 6.5 hosts?
A. The virtual hardware version is incompatible with 6.5
B. VMware Tools version is upgraded

C. EVC mode is disabled

D. DPM is configured incorrectly

Correct Answer: C
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QUESTION 4

What are two requirements to implement vTPM in a vSphere environment? (Choose two.)
A. select EFI firmware for VM

B. enable TPM on ESXi host

C. enable UEFI Secure Boot

D. use VM hardware version 14

E. disable Quick Boot

Correct Answer: AD

QUESTION 5

An application requires a high network transmission rate and multiple simultaneous TCP streams. What is the maximum
number of threads that can be created per vNIC?

A. 4
B.6
C.8
D. 10

Correct Answer: D

Latest 2V0-21.19 Dumps 2V0-21.19 PDF Dumps 2V0-21.19 Study Guide

Latest 2V0-21.19 Dumps | 2V0-21.19 PDF Dumps | 2V0-21.19 Study Guide 3/3


https://www.pass2lead.com/2v0-21-19.html
https://www.pass2lead.com/2v0-21-19.html
https://www.pass2lead.com/2v0-21-19.html
http://www.tcpdf.org
https://www.pass2lead.com/2v0-21-19.html
https://www.pass2lead.com/2v0-21-19.html
https://www.pass2lead.com/2v0-21-19.html

